; B

Answer all the queslions in the spaces provided.

Andrew Wheaton has g _small dairy farm which his
family has been farming in ny years.

The farm consists of a number of fields, barns and
some woodland.
i e S i

Business is very difficult at the moment as the cost

of producing a litre of milk is now w
selhng Ence Andrew sells most of his milk 1o a large

the tmpact on the stakeholders if the business
were to fail.

Andrew has decided to invest in new technology as this should reduce his production costs. He:‘E

is considering a number of sources of finance in order to proceed with the investment.

(a) Suggest two appropriate sources of finance and outline why they might be suitable for|

Andrew’s business. 4]

J

Bodew o Obtan o bosk kan ko helplim fahe  inan@ for
Pudchasing bt Naww e O T wowd  Sut Andseus
businam beeaote o he (s heaxing 0 loss oo each \ihie of
ik e s, 0 losgt Sum of tvones woud b aualakig
qukly Whih  would enblt Uim 0 purckar Be equipment;
od . lows W (o, Andrew abo obkkaln fimant fromn
hﬂjh*\ﬂuw Ths wowdd  erable kim o e ke old

(il (aKis WLW:U) Gr eamp wiih woud halp km 1o
et the -

UPMEAY UTh AR Gy

el ant ;
o RUIMmaAt, L pseh o halp |ouuws
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(b) Identify three stakeholders apart from Andrew and explain the impact on each stakeholder
if the business were to fail. (6]

O Staje olds wousd be Ardrwi (ustbmaes. Ao he el
v o b milk Ho Bupumasked, A _0{1\4{ CUWE boowed  hae
bo pudare Hor MK fom ot prodies  wkven My La
Seesgual od oore s, [upunore e Sopupariet  wouad alio
haat 40 £nd o diwerr Supbwr whih e W& ol ad Eime
Cm;mi«j;. Aﬂo&d Staxehddy  woud ¢ Ao Famil becassa
they ~wouwl  Lewme Vnatpogud i He lusineu to
Q"cg. Futumore. b uuocres u.orkij ot Be fam Wouwd
alto hure ko ok for oth jobs o0 WNB~ sy Le Cm:j
od  bite (0sntpg. Aeothe Staschdiber wand be” Andrewss
Suppliwn. The (Omponur 4Hax  Sugpy Andew wdth (Orn
od Food [ He lwmtocre s feceus War reueant
(P11 wousd e lamrj a égqiwlﬁw (Abomes 1 Pedzesh
bt was ko g,

only
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2. Ranijit Singh owns a business selling British made motorbikes, parts and accessories. He has a
number of shops in the UK. He also sells his products over the internet in the UK and overseas.
His business is an example of a successful SME.

(a) Describe the meaning of the term SME. 7, 2]
A Swmath Meotom entepiny’ S A Snalles  Firv Haak

e n e amp SNES oue usaly Eithy Sole bades
or - POUHNAIS ipA Bamp of & SME o R0 ey |
SE s oy abo opusaxe Ja. Oiche oskats.

(b) Evaluate the importance of SMEs, such as Ranjit's business, to the UK economy. [6]
SMES ove vabahie bo the &en becang, H"J pOLAL
eanpbyany ko VoAY e, tedes whe \eol of
UNamploymert o ki . Wiwich  Stvnudass, Smw‘hl..
SNEY we alse Ualuablt &) bhe Ccmomjbecwu

Fedl in aqm in the trasket LoWdn (oot L mw(

M@ss Masteaking Q.;/i;m (n Ranjit .SI:SLB businer O

(hitish voloclted, Ho O (ONsuMA b Que
Nore l:kd} bo le met \uhah rv'@ bewest all (OoMumes
wmaauw, SNES e ot %0 waverle bo ‘cH;eLauD
becas Qaty gl e ‘}ktfmm in the  Moskeet
-"Mqare gL Me Mukbiag [irms Prouiole rvorc.M
o empynut by (ool Mba\\*j Ot &
Fusthamre  SNES e, Sole” brades o wrph
Whith  Qglen ol witK dae pine N i O(wwb'\
Which (0~ louws rotuation accin 4 ew’“fj ¢
In(rogM e arount” of datt oML hase YA 4k ot ,
Quuall T bevwar SWES & R el b A v

Efmm{») Lecasis oo Get N \\'j LANCEy s ALUN e
Wk ShMmuaar Lotk In e N

© WJEC CBAC Ltd (BS10UN0-1)



BLANK PAGE

© WJEC CBAC Lt (BS10U10-1) Turn over.



3.

6

Lotus Enterprises Ltd manufactures a range of garden ornaments including gnomes. The

business sells 40 000 gnomes a year at £10 each. Its costs for the year are as follows:

* Equipment hire: £14 000 per year
* Advertising: £5 000 per year
* Market research: £15 000 per year
* Rent and rates: £50 000 per year
* Labour: £1 per gnome

* Raw materials: £3 per gnome

(a) Calculate sales revenue if all gnomes are sold.
Rouanae = Se,ul«j PALL X Dombes oL UNIK Sald
£lo x Lo,0o = tuhogooo

(b) Calculate the contribution made per gnome.

Cotkabution. = 5@.\\13 Paw - vonaale (0K

o - €y cto : Laloowr + RN = &1y
(ontribukion W grome = €6

(c) Calculate break-even output.
(heox eu2r Output = Fixed (o

(0 akiukion Pof  Unix
FC= 60,000 + 5000 + £5,00 +8l, 000 = £ §4.000

£6 Lot Emarpanad il nad 0 2 i 100
QromMi. ho breoxX A
(d) Calculate the profit made if all gnomes are sold.

Peogit = Total (euasus — —tova) (O
TR= ELI«'COJCXI) Tul = V0000

(1)

2]

3]

(4]

TC = &y, 000 46,000 + 615,000 + £50,000 +lbo,000 = £ 2,000

Elyap,coo —Bb, 000 = €1S6,000
Df@;# = 613(9;(230
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Lotus Enterprises Ltd is thinking of producing a new range of garden ornaments. The company
has decided to use a telephone survey in order to establish the likely demand for the garden
ornaments and has decided to use sampling.

(e) Identify and explain two sampling methods and recommend with reasons which one
would be most appropriate for Lotus Enterprises Ltd. (8]

One. Samgli matvod Upud be rm@;r(Sampurﬁ.Rm
Sompling 15 Whae €A MaWbe oF He  popiuation has
a0 24 thonw of Lang Wua to Le intuwewsd €ct,
Jp Lot Eotedprt Wt o odbpt o random Sawging
D\Wconx.h,}hbu.omd. (evous. 03 elamant  of b\aR_W,J;rw
Hhait Cesearch. Ty wowd  goasak Far fesws Wiin
Nnjbtcms;awd bo be e webi bo  ther
busnests Acoher Sampiing metvod Lotus Boverpive May
DI wbud Le qota Samﬁ(‘ﬁ. Quste Sampl{j IS Wht
He  Popuation Iy Seﬁnmml A aquerr Sy Proul oAk
Sivlas” (rBAesTsEG. T My be odunmbogras to
Lotus Enterpoir. Lecoyr Usanly  gsake In a
Nidat tosteex O b TS Onlivaby gk ookt O
(DMOLLLU_) (ondon (Vb of e popusarin woud  be
intecested” In Sasder  Omama. Thuese i Lotos
Eoresprive A Quota Sompuy in Mo resefuch, 4
Coundh mwmmwwmwm Ghe peoyin
%bwz_w. QT o likely o be in Her rapet
Maskat, Furthtore Q& telaplOne  Iplsileuws Qe bite ¢
Litne Consuming O Potentiolyy (07y wowd ot
e um}ngaS!w«u, A Ig-jn.j 1ﬂ“—'{ her |
C%ascn  ay s bofj ex Mtk Dusod X beleyyy E,

Lo :
- i ‘E' PO Shoud g Quora Sompln  Gecos |
Ua Yime o/ f‘-oj od refriue’  Infor O 3asr |
s [

-
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4. The UK is regarded as the world leader in social enterprise with social entrepreneurs operating =

in an incredibly wide range of activities, from healthcare to renewable energy.

One such small, well-established social enterprise is Local Wheels. Their main aim is to serve
their local community by delivering ready-prepared meals to the elderly in their own homes.

Social enterprises are one part of the private sector but many of society’s needs are also
provided for by the public sector.

(a) Describe what is meant by the public sector. [2]
The public Sectoe 15 Ou,mul o fuq/b) ke 8049.!“"“‘"
The firtng In He Pusic  Seckor Qe oplfr\ Dok 4. 1%
for bre tonay OR fhen Powdc Masit od public
Qoudl: P xoonple oud be & Ha BRC.

Vv

(b) With reference to Local Wheels describe the key features of a social enterprise. (4]
A Socal emspiw IS @ Ompony Bk Oots fof  exisk fo
More & Dok it exigi do  faw aumeser O Sopport
o (whor Sodd wew or dafmug_, Locd uuLuJ-!
Shouwn 0. (Wosadsi WL of A Soda) eAlspAlL

Gﬂd\j prepasdd” DM.QM o Ha Ql N Ahsr K;?u, i :mm
tot ey bae Lo a sgmx e oA e oddrentitg i,
Fusthasmore ”“"J Wm o Lowe hor el (Ommunily Wkith

lMLuu Mjmmtmof‘ M loced CWMUM Hon -}
3w«b PO,

(c) Dnscuss the view thal the public sector plays a far more important role in meeting the
needs of society than the private sector. L Sarucien (8]

The pobslic Seckor procde Goads b0 e Yat

oyl Ustally be  UndwiConsumud ¢ lepe o &2 free

traskek. Thiat  goool wgwmﬂ Gooole., s

houe pasitiue  @xternasities Ond  Lerapit 4he @Eo00 ol |

Sodedy More Hen Ha jrduobal (DRSO Ao trampic

o Ho wad Lo cduadion. The prowslon o maesit |
|

T
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Sood.ﬂ bo the waep s More ‘ikllj bo Mart  pespeg
Nede Hon o, For exampu  edotation 0~ heautsave
A naded bo Swwiwr o Huiur In He CGO{O’OO.J
Without Heat oy Jeople Lousd Muuww
becane ll.

The pauvax wceor B pIrWi'sb bO  Pprogit Nm"wu,
ax aea N Soe treden , posHsskert , Public livikd (ompanes
O Private  limised (otpones . Thest Pitted Mt Rz
wark . An Zeamps wouad L€ a (00 Manvpeckioer, Privast
Fiend Qo prowele dldmasit 8005(! (VIEeN f\@o«t‘u‘l 5
Belunaliti4a 10 (Oumptin | G2 Somp U \opd bQ({fw«Jc!
T W Yo he per ortet How wowd Lo oussconomd,
weuesy Fiths Such 08 Sodal empdsd Oad haritieg
OVe in Are privek  Sector bwt ob or Wk Yo propit
voximiat . Thert  Fions ek Yo Motk He nuds Of
Saod Q;\) (o Moo Mm% Wik has  He (peracuRtif
op & . public Firm,

FUJMWQ_ pnua)L Fitm2 Drowde +He ea)ron.:j otk

Qfeai emp END OF PAPER
U 5 e e boyrw Sowenm,
PUITC Flrms Q(Dunl»(( U eco A wueh
§oock o) nooj ULth  bie
Ondl Yosuneg 414_] aud e line F oean
Ouu.;._u T bk A i,
& toce. ; B2 ot o et
iMPottant role 3 plaﬁ
%M UM O{’ bd O¢ SO(AQD
e st pag - M yeu oge yeigs
fm’pu TP ko
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